2. What are the indicators of Human Happiness Index
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Answer any ten of the following in 2 - 3 sentences each. Each méﬁoﬁ v
2 marks. ;
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1. What is Economic Growth ?
e3F T IR 0TTERD ?

- 33s Noaraeu R nuaz.ﬁﬁeab odoa@a& ?

3. Deflne Statlonary state
QIO ASOITY, 339,20 . e e ool

4, What is Surplus Value ?
BR[O SR, 20TV ?

5. What is meant by Unbalanced Growth ?
BRRZROT WITIR 0BT ?

6. Give the meaning of the concept ‘Invisible Hand'. - W
T3 g TWoBOFAD LT Aed.
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7. What is NNP ?
NNP »omdesd ?

8. What is sustainable development ?
#oﬁ&d c:aapfbao QOTTERD ?

9. What is meant by Actual Rate of Growth ?
RN ESeIrtod W3 Q0WTERD ?

10. Give the meaning of inclusive growth. .
DQTRR, WINRROR WITeIioDd BTF e’ :

11. What is Infant Mortality Rate ?
33 SHTL TT 0TI 2

12. Mention the human development indicators.
PRSP ezpa’bqa ﬁmwﬁﬂ@m‘ BR0N.
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Answer an; four of the following in 15 — 20 sentences each. Each question ~
carries 5 marks. : (5x4=20) &
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13. Bring out the importance of technology in modern economic development.
ST SOFT tazpq)% cdac‘)ﬂ@o@m@ﬁcs 30,202, D), VR

14. Explain the Malthusian theory of population.
TROTTDC &R0, JeSCDI) HZ0X.

15. Write a short note on GNP.
GNP 302> asa'isé W30,

16. What are the main factors involved in sustainable developrﬁeht ?
.'-'{b.-’&d ez;:wd% 030 LHRROBTIE T, LS0BRVORT) 2



o1 Explain Rostow’s stages of development.
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17. Explain the role of capital formation in Economic Development.
SHFE 2,0 0300, 0BT oIS T3, SO '1 3

18. Write a short note on division of labour of Adam Smith.
&,B0 3 TRT 3,30 D B0 E3aed 2o,
PART-C
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carries 10 marks. ¢
BENT BRFYTT3R NTRED gs;lmﬁ 30-40 msﬁmgm

19. Explain the causes and remedial measures of poverty.
WEIST FO0LNTD Tore Va0 BN HS0A.

* 20. Discuss the Millennium Developmeﬁt'Goele; ' T -:ff'{;

Am3, S e 0T oo Bk,

BredR 0T B0 BOSNT) DEOR.

22. Explain the obstacles in the measurement of National Income.
gy 03> TR0 BRERG ERBRMYR), HTOR.
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